AUSTRALIAN CAPITAL TERRITORY

BUILDING AND SERVICES ACT 1924 DETERMINATION OF FEES

No. 165 of 1995

Under section 3F of the *Building and Services ACT 1924*, I REVOKE Determination No. 177 of 1993 published in ACT Gazette No. S274 of 24 December 1993.

Under section 3F of the *Building and Services ACT 1924*, I DETERMINE that from 1 January 1996 the fees payable for the disposal of Household garbage under 0 5 tonne at ACT Government landfills shall be in accordance with the attached Schedule.

Under section 3F of the *Building and Services ACT 1924*, I DETERMINE that fees payable for the disposal of household garbage 0.5 tonne and over, industrial, commercial and special garbage at ACT Government landfills shall be in accordance with the attached Schedule.

Dated

ay of Meteure

Anthony Joseph De Domenico Minister for Urban Services

THIS IS PAGE 1 OF THE SCHEDULE TO THE DETERMINATION MADE UNDER THE BUILDING AND SERVICES ACT 1924 ON THE 21st DAY OF December 1995.

SCHEDULE

WEIGHBRIDGE FEES FOR THE DISPOSAL OF GARBAGE

DEFINITIONS

"Household Garbage" means waste from residential premises generated from domestic activity and transported by the householder.

"Industrial and Commercial Garbage" means garbage generated, collected, transported or disposed of as part of an industrial or commercial activity. This includes wastes from office and professional premises.

"Special Garbage" includes all garbage listed as such below

"Sedan" means an enclosed motor vehicle principally constructed for the conveyance of up to eight persons. The luggage compartment is usually not able to be accessed, or has restricted access, from the interior of the vehicle.

"Station Wagon" means an enclosed motor vehicle principally constructed for the conveyance of up to eight persons When the rear seats are in an upright position the vehicle has substantial luggage area in proportion to the overall size of the interior. The luggage area can be accessed from within the vehicle or through a door at the rear.

"Trailer" means Trailer as defined in the Motor Traffic ACT 1936

"Any Other Motor Vehicle" means any "motor vehicle", as defined in the Motor Traffic Act 1936, other than those vehicles listed above.

Minister's Initials

THIS IS PAGE 3 OF THE SCHEDULE TO THE DETERMINATION MADE UNDER THE BUILDING AND SERVICES ACT 1924 ON THE 2.2.5 T DAY OF DECEMBER 1995.

SCHEDULE

WEIGHBRIDGE FEES FOR THE DISPOSAL OF GARBAGE

SPECIAL GARBAGE (CONT'D)	
Radioactive Waste per tonne - 0.5 tonne or more up to 0.5 tonne	\$22.00 \$11.00
Other Hazardous Waste per tonne - 0.5 tonne or more up to 0.5 tonne	\$22.00 \$11.00
Sullage per tonne - 0 25 tonne or more up to 0.25 tonne	\$100.00 \$25.00
Sewage Ash and Grit per tonne - 0.5 tonne or more up to 0 5 tonne	\$50.00 \$25.00
Meat, Fish or Other Animal Processing Wastes per tonne - 0.5 tonne or more up to 0.5 tonne	\$40.00 \$20.00
Special Burials per tonne - 0.5 tonne or more up to 0.5 tonne	\$60.00 \$30.00
Metals including Car Bodies and Whitegoods taken to the recycling area	No Charge
Carcasses small/medium (eg dog /cat/sheep) up to 0 5 tonne	\$ 5.00 \$90,00

Minister's Initials

THIS IS PAGE 2 OF THE SCHEDULE TO THE DETERMINATION MADE UNDER THE BUILDING AND SERVICES ACT 1924 ON THE 2157 DAY OF DECEMBER 1995.

SCHEDULE

WEIGHBRIDGE FEES FOR THE DISPOSAL OF GARBAGE

FEES		
Household Garbage (except Special Garbage)		
per tonne - 0.5 tonne or more	\$22.00	
up to half tonne		
Sedan	\$3.00	
Station Wagon	\$3.00	
Trailer	\$5,00	
Utility	\$5.00	
Any other Motor Vehicle	\$5.00	
Industrial and Commercial Garbage (except Speci	al Garbage)	
per tonne - 0 5 tonne or more	\$22.00	
up to 0.5 tonne	\$11.00	
Special Garbage		
Tyres - unshredded		
Per tonne - 0.25 tonne or more	\$100.00	
up to 0 25 tonne	\$25.00	
Tyres - shredded		
per tonne - 0.5 tonne or more	\$25.00	
up to 0.5 tonne	\$12.50	
Asbestos or products containing Asbestos		
per tonne - 0 5 tonne or more	\$60 00	
up to 0.5 tonne	\$30.00	
Chemical Waste		
per tonne - 0.5 tonne or more	\$22.00	
up to 0.5 tonne	\$11.00	
<u>-</u>	41-4	

Minister's Initials

IVITILISIES S TITULAIS